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1. 11 Ngdhf;fspd; mlf;ftpiy 10 Ngdhf;fspd; tpw;w tpiyf;F rkk; vdpy; 
,yhg rjtPjk; 
The cost price of 11 pens is equal to the selling price of 10 pens. The profit per 
cent is 

 Solution: 
 

If CP of x articles    =   SP of y articles. 
thq;fpa nghUl;fspd; x vz;zpf;if = tpw;w nghUl;fspd; y 
         
 vz;zpf;if 

P% = 100
x y

y


 = 

11 10
100 10%

10

 
  

 
 

 
2. 8 nghUl;fspd; mlf;f tpiy 10 nghUl;fspd; tpw;Fk; tpiyf;F rkk; vdpy; 

e~;l rjtPjk; 
 The cost price of 8 articles is equal to the selling price of 10 articles. Then the 
 percentage of loss is 

Profit = S.P – C.P 

Profit % =  

Similarly 
Loss = C.P – S.P 

Loss % =  
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If CP of x articles = SP of y articles. 
thq;fpa nghUl;fspd; x vz;zpf;if = tpw;w nghUl;fspd; y    
        vz;zpf;if 
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3. A shopkeeper allows a discount of 10% to his customers and still gains 20%.  

Find the marked price of an article which costs Rs.450 to the shopkeeper. 
 xU filf;fhuh; jd; thbf;ifahsh;fSf;F 10% js;Sgb je;Jk;> 20% 
 ,yhgk; milfpd;whh;.  xU nghUspd; cz;ik tpiy &.450 vdpy;> 
 mg;nghUspd; Fwpj;j tpiyiaf; fhz;f. 
 

Fwpj;j tpiy =
100 %

100 %






yhgk;
m.tp

js;Sgb
   

Marked Price   
(100+Gain %)

M.P ×C.P.
100-Discount %

  

       = 
(100 20)

450
(100 10)




  

  
     = 

120
450 .600

90
Rs   

 
 

WORKSHEET 
 

1. By selling a table for Rs. 1,320, a trader gains 10%. Find the C.P. of the table. 
a. 1188  b. 1200  c. 1250  d. 1100 
tpahghhp xUth; ì 1320 f;F xU Nkiria 10% ,yhgj;jpy; tpw;whh; vdpy; 
mjd; mlf;f tpiyiaf; fhzTk;.  
a. 1188  b. 1200  c. 1250  d. 1100 

 
2. A loss of 4% was suffered by selling a plot for Rs.1560. The cost of the plot? 
 a. Rs. 1625          b. Rs. 1265          c. Rs. 1525           d. Rs. 1575 
 xUth; xU kidia &.1560 f;F tpw;Fk; NghJ 4% rjtPjk; e~;lkilfpwhh; 
 vdpy; mk;kidapd; mlf;ftpiy ahJ? 
 a. Rs. 1625          b. Rs. 1265          c. Rs. 1525           d. Rs. 1575 
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3. By selling  an article for Rs. 480, a person lost 20%. For what amount should 
be sell it to make profit of 20%?  

 a. Rs. 800  b. Rs. 760  c. Rs. 720  d. Rs. 680 
 xUth; xU nghUspid 480 &gha;f;F tpw;gid nra;jhy;> mtUf;F Vw;gLk; 
 e~;lk; 20% mtUf;F 20% ,yhgk; fpilf;f Ntz;Lk; vd;why;> me;jg; 
 nghUspid mth; vj;jid &gha;f;F tpw;f Ntz;Lk;? 
 a. Rs. 800  b. Rs. 760  c. Rs. 720  d. Rs. 680 
 

4. By selling a watch for Rs.144, a man would lose 4%.  For what sum should he 
sell it to gain 25%? 
a. Rs. 178.50        b. Rs. 187.50       c. Rs. 190.75       d. Rs. 150.75 
xU fbfhuj;jpid &.144f;F tpw;Fk; NghJ 4% e~;lk; Vw;gLfpwJ. 25% yhgk; 
Vw;gl Ntz;Lk; vdpy; vd;d tpiyf;F tpw;f Ntz;Lk;. 
a. Rs. 178.50        b. Rs. 187.50       c. Rs. 190.75       d. Rs. 150.75 

 
5. A merchant loses 9% on his outlay by selling goods for Rs.650. Compute his 

gain percent if he sells his goods for Rs. 750. 
a. 7%                   b. 9%                   c. 5%                   d. 11% 
xU tpahghhp nghUl;fis &.650f;F tpw;Fk;NghJ 9% e~;lkilfpwhh;. mNj 
nghUis &.750f;F tpw;Fk; NghJ vt;tsT rjtPjk; yhgk; fpilf;Fk;? 
a. 7%                   b. 9%                   c. 5%                   d. 11% 

 
6. The percentage profit earned by selling an article for Rs. 1920 is equal to the 

percentage loss incurred by selling the same article for Rs. 1280. At what 
price should the article be sold to make 25% profit? 
a. Rs. 2000  b. Rs. 2200  c.  Rs. 2400  d.  Data inadequate 
xU nghUis &.1920 tpiyf;F tpw;gid nra;tjhy; fpilf;Fk; ,yhg 
rjtPjk; mNj nghUis &.1280f;F tpw;gid nra;tjhy; fpilf;Fk; el;l 
rjtPjj;jpw;Fr; rkk; MFk;.  25 rjtPj ,yhgj;ijg; ngw Ntz;Lk; vdpy; 
me;jg; nghUis vd;d tpiyf;F tpw;f Ntz;Lk;?   
a. Rs. 2000    b. Rs. 2200   
c.  Rs. 2400    d.  Nghjpa jfty; ,y;iy  

 
7. X sold an article to Y at a gain of 10%, Y sold it to Z at a gain of 20%. If Z paid 

Rs. 2,640 for it, what did it cost to X? (in Rs.) 
a. 1500  b. 1700  c. 2000  d. 2500 
xU nghUis X, 10% ,yhg tPjj;jpy; Y f;Fk;> Y mg;nghUis Zf;F 20% 
,yhg tPjj;jpYk; tpw;fpwhh;fs;. Z mjw;F &.2>640 nfhLj;jpUe;jhy;> X mij 
thq;fpd tpiy? 
a. 1500  b. 1700  c. 2000  d. 2500 
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8. A man bought toffees at the rate of 15 for a rupee and sold them at the rate of 
12 for a rupee.  His gain per cent is: 
a. 20%  b. 25%  c. 33.33%  d. none of these  
xU egh; xU &gha;f;F 15 vd;w tPjj;jpy; ,dpg;Gfis thq;fp> mtw;iw xU 
&gha;f;F 12 vd;w tPjj;jpy; tpw;gid nra;jhy;> mtUila ,yhg tpOf;fhL: 
a. 20%  b. 25%  c. 33.33%  d. ,tw;Ws; vJTkpy;iy  

 
9. A man sold 60 chairs and had a gain equal to that of the selling price of 20 

chairs.  Find out the profit in percentage. 
a. 45%               b. 65%               c. 50%               d. 100% 
xU egh; 60 ehw;fhypfis tpw;gid nra;J> 20 ehw;fhypfspd; tpw;gid 
tpiyf;F rkkhd njhifia ,yhgkhfg; ngw;whh;. ,yhgk; vj;jid rjtPjk; 
vd;W fz;Lgpbf;fTk;. 
a. 45%               b. 65%               c. 50%               d. 100% 

 
10. By selling 240 apples, a fruit seller gains the cost price of 20 apples. What is 

his gain percentage? 
a. 7 1/3%             b. 8 1/9%            c. 9 1/3%             d. 8 1/3% 
xU go tpahghhp 240 Mg;gps;fis tpw;gid nra;J> 20 Mg;gps;fspd; mlf;f 
tpiyf;Fr; rkkhd ,yhgj;ijg; ngWfpwhh;.  mtuJ ,yhgk;  vj;jid 
rjtPjk; vd;W fz;Lgpbf;fTk;? 
a. 7 1/3%             b. 8 1/9%            c. 9 1/3%             d. 8 1/3% 

 
11. A merchant has 100 kg. of sugar, part of which he sells at 7% profit and the 

rest at 17% profit. He gains 10% on the whole. Find how much he sold at 7% 
profit. 
a. 60 kg  b. 70 kg  c. 30 kg  d. 75 kg 
xU tpahghhp jd;dplKs;s 100 fpNyh rh;f;fiuapy; xU gFjpia 7% 
,yhgj;jpw;Fk; kPjpia 17% ,yhgj;jpw;Fk; tpw;F nkhj;jj;jpy; 10% yhgk; 
mile;jhy; 7% ,yhgj;jpy; tpw;w rh;f;fiuapd; msT 
a. 60 kg  b. 70 kg  c. 30 kg  d. 75 kg 

 
12. Find the single discount equivalent to a Successive discount of 30%, 20% and 

10%. 
a. 32.6  b. 49.6  c. 50.4  d. 35 
30%, 20% kw;Wk; 10% vd;w mstpy; gbg;gbahd js;Sgbf;F ,izahd 
xw;iwj; js;Sgbiaf; fz;Lgpbf;fTk;. 
a. 32.6  b. 49.6  c. 50.4  d. 35 

 
13. A trader marks his goods 40% above the cost price. He sells them at a 

discount of 5%. What is his loss or gain percentage? 
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a. 40% Loss  b. 33%Gain  c. 30%Gain  d. 35% Loss 
xU tpahghhp xU nghUis thq;fp mjd; tpiyapy; 40% cah;j;jpf; Fwpj;jhh;. 
mij 5% js;Sgb nra;J tpw;whh;. mtUf;Ff; fpilj;j ,yhg my;yJ el;l 
rjtPjk; vd;d?  
a. 40% Loss  b. 33% Gain  c. 30% Gain  d. 35% Loss 

 
14. A merchant sells an item at 20% discount.  There by gains 20% profit.  If he 

won’t allowed any discount, what is his profit?.  
a. 50%  b. 10%   c. 20%  d. 25% 
xU tpahghhp xU nghUis 20 rjtPj js;Sgbf;F tpw;gid nra;fpwhh;.  
mjd; thapyhf mth; 20 rjtPj ,yhgj;ijg; ngWfpwhh;.  mth; js;Sgb 
vijAk; mDkjpf;ftpy;iy vdpy;> mtUila ,yhgk; vt;tsT?  
a. 50%  b. 10%   c. 20%  d. 25% 

 
15. A tradesman marks his goods at such a price that after allowing a discount of 

15% he makes a profit of 20%. Find the marked price of an article which costs 
him Rs. 850? 
a. ì1020  b. ì 1200  c. ì 2000  d. ì 1150 
xU th;j;jfh; jd;Dila nghUl;fis> 15 rjtPj js;Sgbia toq;fpa gpwF 
20 rjtPj ,yhgk; ngWk; tifapy;> xU Fwpg;gpl;l tpiyf;F tpw;f 
epidf;fpwhh;. &.850 tpiyAs;s xU nghUis tpw;gid nra;tjw;F mth; 
eph;zapj;Js;s tpiy vd;d? 
 a. ì1020  b. ì 1200  c. ì 2000  d. ì 1150 

 
16. A bicycle is sold at a gain of 16%.  If it had been sold for Rs. 20 more, 20% 

would  have been gained.  The C.P. of the bicycle is 
 a. ì 400  b. ì 500  c. ì 600  d. ì 750  
 xU kpjptz;bia 16 rjtPjk; yhgj;jpy; tpw;Nwd;. me;j kpjptz;bia &.20 
 mjpfkhf tpw;wpUe;jhy;> 20 rjtPjk; yhgk; fpilj;jpUf;Fk;. kpjptz;bapd; 
 thq;fpa tpiy? 
 a. ì 400  b. ì 500  c. ì 600  d. ì 750  
 
17. A television set was sold for ` 14,400 after giving successive discounts of 10% 

and 20% respectively. What was the marked price? 
a. ì 20,000  b. ì 10,000  c. ì 15,000  d. ì 18000 
njhlh; js;Sgbfs; KiwNa 10%, 20% vd;wthW xU njhiyf;fhl;rpg; ngl;b 
14,400 f;F tpw;fg;gl;lJ vdpy; mjd; Fwpj;j tpiy vd;d?  
a. ì 20,000  b. ì 10,000  c. ì 15,000  d. ì 18000 
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18. A chair originally costs Rs. 500. It was offered for sale at 108% of its cost.    
After a week the price was discounted 10 % and the chair was sold. What was 
its sale price? 
a. ì 540  b. ì 500  c. ì 440  d. ì 486 
xU ehw;fhypapd; mbg;gil tpiy &.500.  mJ mjDila mry; 
tpiyiaiag; Nghy 108 rjtPjk; kjpg;gpw;F tpw;gidf;F toq;fg;gLfpwJ.  
xU thuk; nrd;w gpwF> me;j tpiy 10 rjtPjk; msTf;Ff; Fiwj;J 
tpw;gid nra;ag;gLfpwJ.  mjDila tpw;gid tpiy vd;d?  
a. ì 540  b. ì 500  c. ì 440  d. ì 486 

 
19. A man sold two articles at ` 990 each. On the first article, he gains 10% and on 

the other, he looses 10%. Also, find the gain or loss percent in the whole 
transaction.  
a. 1% Loss b. 6.25% Loss c. 1% Profit  d. No Loss, No Profit 
xUth; ,U nghUl;fis xt;nthd;iwAk; ì 990 f;F tpw;fpd;whh;. Kjy; 
nghUis 10% ,yhgj;jpw;Fk; kw;wij 10% el;lj;jpw;Fk; tpw;fpd;whh; vdpy; 
,yhgk; my;yJ el;l rjtPjj;ijAk; fhzTk;.  
a. 1% Loss b. 6.25% Loss c. 1% profit  d. No Loss, No Profit 

 
20. The price of an item inclusive of VAT is Rs. 9,720. If VAT is 8 % then the cost 

price of the item is  
a. 9,000 Rs.  b. 9,100 Rs.  c. 9,120 Rs   d. 9,200 Rs 
kjpg;G$l;L thpAld; xU nghUspd; tpiy &. 9>720. kjpg;G $l;L thp 8% 
vdpy; mjd; mlf;f tpiy vd;d? 
a. 9,000 Rs.  b. 9,100 Rs.  c. 9,120 Rs   d. 9,200 Rs 

 
21. A shopkeeper mixes 20 kgs of rice which cost Rs.5per kg with 35kg of rice 

which cost Rs.7per kg.  Then he sells the mixture at Rs.6.50 per kg.  Find his 
profit percentage. 

a. 3%   b. 
40

3 %
67

  c. 
64

4 %
69

  d. 
43

3 %
69  

xU filf;fhuh; jd;dplk; ,Ue;j &. 5 mlf;f tpiyAs;s 20fp mhprpiaAk;.   
&.7 mlf;f tpiyAs;s 35 fpNyh mhprpiaAk; xd;whf  fye;J fpNyh &. 
6.50f;F tpw;why; mtUf;F fpilf;Fk; yhgj;jpd; rjtPjk;  vd;d?

 
a. 3%   b. 

40
3 %

67
  c. 

64
4 %

69
  d. 

43
3 %

69  
 
22. The cost price of 11 pens is equal to the selling price of 10 pens. Find the loss 

or gain percent. 
a. 20% loss  b. 10% loss  c. 10% gain  d. No loss No profit   
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11 Ngdhf;fspd; mlf;ftpiy 10 Ngdhf;fspd; tpw;w tpiyf;Fr; rkk; vdpy; 
,yhg my;yJ el;l rjtPjj;ijf; fhz;f.  

 a. 20% el;lk;    b. 10% el;lk;  
 c. 10% yhgk;     d. el;lk; ,y;iy yhgk; ,y;iy  
 
23. Raju bought a motorcycle for & 36,000 and then bought some extra fittings to 

make it perfect and good looking. He sold the bike at a profit of 10% and he 
got a selling price of & 44,000. How much did he spend for the extra fittings 
made for the motorcycle?  
a. Rs. 4,000  b. Rs. 4300  c. Rs. 5000  d. Rs. 6000 
,uhR 36,000 f;f xU Nkhl;lhh; irf;fpis thq;fp> mjd; Njhw;wg; nghypT 
ed;F mikaTk; NkYk; ed;Kiwapy; ,aq;fTk; rpy ,ju ghfq;fisg; 
nghUj;jpdhh;. gpd;G mk;Nkhl;lhh; irf;fpis 44,000 f;F 10% ,yhgj;jpy; 
tpw;fpd;whh; vdpy; ,ju ghfq;fs; thq;f vt;tsT nryT nra;jhh;?  
a. Rs. 4,000  b. Rs.  4300  c. Rs. 5000  d. Rs. 6000 

 
24. A man sold two varieties of his dog for & 840 each. On one he made a gain of 

40% and on the other a loss of 40%. Find his overall gain or loss.  
a. No profit No loss   b. 20% profit 
c. 10% loss     d. 16% loss  

xUth; jd;dplKs;s xU tif ehapid 40% ,yhgj;jpy; ì 840 f;Fk;> NtW 
xU tif ehapid 40% el;lj;jpy; ì 840 tpw;whh; vdpy;> nkhj;j ,yhgk; 
my;yJ nkhj;j el;lk; fhz;f. 
a. el;lKkpy;iy ,yhgKkpy;iy   b. 20% ,yhgk;  
c. 10% el;lk;      d. 16% el;lk;   

 
25. A shopkeeper allows a discount of 10% to his customers and still gains 20%. 

Find the marked price of an article which costs ì 450 to the shopkeeper.  
a.ì 500   b. ì 600  c. ì 700  d. ì 550  
xU filf;fhuh; jd; thbf;ifahsh;fSf;F 10% js;Sgb je;Jk;> 20% 
,yhgk; milfpd;whh;. xU nghUspd; cz;ik tpiy 450 vdpy;> mg;nghUspd; 
Fwpj;j tpiyiaf; fhz;f.  
a.ì 500   b. ì 600  c. ì 700  d. ì 550  
 

26. A dealer allows a discount of 10% and still gains 10%. What is the cost price 
of the book which is marked at ì 220?  
a. Rs. 160  b. Rs. 140  c. Rs. 180  d. Rs. 200  
xU Gj;jfj;jpd; tpiyapy; 10% js;Sgb nra;jhYk; xU tpahghhpf;F 10% 
,yhgk; fpilf;fpd;wJ. mg;Gj;jfj;jpd; Fwpj;j tpiy ì 220 vdpy;> mjd; 
mlf;f tpiy ahJ?  
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a. Rs. 160  b. Rs. 140  c. Rs. 180  d. Rs. 200  
 
27. A trader buys and article for ì 1,200 and marks is 30% above the C.P. He then 

sells it after allowing a discount of 20%. Find profit percent.  
a. 2%   b. 2%   c. 4%   d. 5%  
xU tpahghhp xU nghUis 1200 f;F thq;fpdhh;. gpd;G mjd; mlf;ftpiyf;F 
Nky; 30% cah;j;jp> Fwpj;j tpiy Mf;fpdhh;. ,jw;F 20% js;Sgb nfhLj;J 
tpw;whh; vdpy;> ,yhg rjtPjk; fhz;f.  
a. 2%   b. 2%   c. 4%   d. 5%  

 
28. A fruit seller bought 8 boxes of grapes at ì  150 each. One box was damaged. 

He sold the remaining boxes at ì  190 each. Find the profit/loss percent.  
 5%   b. 8.9%   c. 14.5%  d. 10.83%  

xU go tpahghhp 8 ngl;b jpuhl;irfis> xU ngl;b & 150 vd;w tPjk; 
thq;fpdhh;. mjpy; xU ngl;b jpuhl;ir mOfp tpLfpwJ. kPjKs;s ngl;bfis 
xU ngl;b 190 vd;w tpiyf;F tpw;fpwhh;. ,yhg / el;l rjtPjj;ijf; fhz;f.  

 5%   b. 8.9%   c. 14.5%  d. 10.83%  
 
29. Sara baked cakes for the school festival. The cost of one cake was ì 55. she 

sold 25 cakes and made a profit of ì  11 on each cake. Find the selling price of 
the cakes and the profit percent.  
a. 20% loss  b. 15% loss  c. 10% profit  d. 20% profit  
xU gs;spapd; tpohtpw;fhf rhuh> Nff; nra;jhs;. xU Nff;fpd; mlf;ftpiy ì  
55 MFk;. mts; xt;nthU Nff;ifAk; ì 11 ,yhgj;jpw;F tpw;fpwhs;. 25 
Nff;Ffis tpw;wpUe;jhy; tpw;gid tpiyiaAk; ,yhg rjtPjj;ijAk; fhz;f. 
a. 20% el;lk;  b. 15% el;lk; c. 10% yhgk;  d. 20% yhgk;   

 
30. Vinoth purchased a house for ì 27,50,000. He spent ì  2,50,000 on repairs and 

painting. If he sells the house for ì  33,00,000 what is his profit or loss%? 
a. 10% loss  b. 10% profit  c. 15% profit  d. 25% profit  
xU tPl;il tpNehj; ì  27,50,000 f;F thq;Ffpwhh;. mth; tPl;il rPh; 
nra;tjw;fhf ì  2,50,000 Ir; nrytpLfpwhh;. me;j tPl;il ì  3,00,000 f;F 
tpw;fpwhh;. vdpy;> ,yhg (m) el;l rjtPjj;ijf; fz;Lgpbf;fTk;.  
a. 10% el;lk; b. 10% yhgk; c. 15% yhgk; d. 25% yhgk;  

 
 
 
 


